AR B e P BR R ER R R EL

FER S A B L RSRBAZE A R AR RO, i OS5 8, w)
AR MBS P8 ik, 106 AR R L — N (BoE~ 350 . e fKr,

ARWAE
N XV XY (5.5)

N X=X INY Y -y

Arh, X2 X ARSHE S AP 72, YR Y AR SHUE S HAN TP
ZFE
B3, BEALICEAR ZAE 104 2 B0 IR W kg, Wnks—
5, AT PIRHR ST R AH R FE
#5—5 —AER04 S E NS
e 1 2 3 45 6 7 8 9 10
¥e2e(X) |71 74 72 68 73 76 67 70 74 65
HY(Y) |75 76 71 70 19 76 65 77 T2 62

it {BSE X AERLIRIETEONT0, Y A RIOATPIH0T2, WA #5—6:
56 RIS RS r

i 0 € O @ T 12100 W I G D S P Gl D S . € &
1 71 75 1 3 1 9 3
2 74 76 4 4 16 16 16
3 72 71 2 -1 4 1 -2
4 68 70 -2 -2 4 4 4
5 73 79 3 7 9 49 21
6 76 76 6 4 36 16 24
7 67 65 -3 -7 49 21
8 70 77 0 5 25 0
9 74 72 4 0 16 0 0
10 65 62 5 -10 25 100 50
z 710 723 10 3 120 269- 137

LKy X =10, DY'=3, Y X =120, Y Y2 =69, Y XV =13TRALAR
(5.5) 5.
NY XY =Y XY
7y =
\/NZXQ _(ZXIZ)\/NZYIZ _(ZYI)Z
_ 10x137-10x3
V120%10-10% /269 %10 — 32

=0.78




